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Table Comprehension (Questions 10-13)
Study the table below carefully, and then answer the four questions that follow.

The table below was prepared by one of the emperors of past times, prior to his army's invasion of
Asia. The table lists the countries he wished to invade and provides details about each of them: area,
population, the number of officers needed to run the country following the invasion, and the percentage
of inhabitants who would accept the emperor without resistance. In addition, the countries are ranked
by wealth: China, the wealthiest country, is ranked 1; Korea, the poorest country, is ranked 6.

Example: India is the second wealthiest country, and out of a population of 100 million inhabitants,
60% would accept the emperor without resistance.

NUMBER OF
PERCENTAGE OF
OFFICERS
COUNTRY AREA INHABITANTS WHO
POPULATION NEEDED TO RUN
COUNTRY RANKING (in millions . WOULD ACCEPT THE
(in millions) THE COUNTRY
BY WEALTH of km?) EMPEROR WITHOUT
FOLLOWING THE
RESISTANCE
INVASION
CHINA 1 10 120 7,500 80
INDIA 2 3 100 8,000 60
PERSIA 3 2 6 600 50
RUSSIA 4 15 15 1,800 40
MANCHURIA 5 15 1 250 20
KOREA 6 0.5 6 450 70

Note: In answering each question, disregard the information appearing in the other questions.

English Pycckuit Portugués Deutsch Italiano
emperors AMIIEPATOPBI imperadores Kaiser imperatori
invasion BTOP>KEHHE invasdo Uberfall auf invasione
area MJI0IIAb area Fliache area
population HaceJlcHue populagdo Bevolkerung popolazione

percentage of

IIPOUEHT JKUTENen

percentagem de

Prozentsatz der

percentuale degli

inhabitants habitantes Einwohner abitanti
without oA . .

. 0€e3 COMpOTUBIIECHNS sem resisténcia widerstandslos senza resistenza
resistance
ranked pacIpeneneHbl classificados eingeordnet classificati
wealth 60raTcTBO riqueza Wohlstand ricchezza
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(13-10 bxw) 9301 NPOH
JAPINKY MONWYN YIIN DY Y0095 19303 2D WHY

YPORY MDTHN MOLNIN DDAV POX NYIDYD ININ DYDY 230 1Y MIDPN THN T2 NINN DINAOY NHILN
NNTNN NN DD XTI WITIY DXTPINN 190N ,MDIDIIND DTN ,NLY 1N DNN DI DY DYDY DIMNINN W10 NXI
N PO IV 29D MPTHD INNTH 12 10D MTIND XD 10PN DN IYIAPOY DXIAVIND HINNXY Y9N INND

.6 NPT ANPA YN NPTHN XN INONPY, T NPT NP NPWYN NTHN

0PN X YAPY 60% ,0avIn P50 100 1NN ,NNODIDIIN TINDI NIV 7PV DPTHN NN ITID PN
MTNNN XOO

pble)s)
D'AYINN TINN D'T79NN S -
NN 1727'Y D IWNT'Y now
N"DI7DINRN " 197 N1 TNN nyrn
X77 20'7n nx 7017 (B (0"pE "r'7Na) R
NITANN INKR'7 N1 TNN ' -
nw'7on
80 7,500 120 10 1 |I'D
60 8,000 100 3 2 ITIN
50 600 6 2 3 01D
40 1,800 15 15 4 N'oiN
20 250 1 15 5 r'xan
70 450 6 0.5 6 N7

VINND MORYI D3NN DINNIN MHYNN NONY 535 DINIWNI :29 MY

Magyar Nederlands ATICT 93y
csaszar keizers >t DDP
invazio invasie (L IAZ nwve
teriilet oppervlakte g N4t noLY
népesseg bevolking A 1DIYIIN
lakossag resze/aranya | percentage van inwoners PLLPT o DXaVINN NNN
ellenallas nelkiil zonder tegenstand LAT°T9° PP MTINN N9
minosit, rangsorol gerangschikt NLLE PtPaom- NN
vagyon, jolet rijkdom/weelde ot R
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Questions

10.

A country's density is defined as follows: density = population

area of country

Which of the following countries has the highest density?

(1) China
(2) India
(3) Manchuria
(4) Korea

11.

If each country is twice as wealthy as the country ranked below it in the ranking by wealth, how
many times wealthier is India than Korea?

(1) 32 times
(2) 16 times
(3) 10 times
(4) 8 times

12.

The emperor has exactly 10,000 officers at his disposal, and it is not possible for him to rule over
only part of a country he invades.

How many inhabitants at most (in millions) will the emperor be able to rule over with the aid of
these officers?

(1) 147
(2) 142
(3) 115
) 113

13.

The emperor's opponents in Manchuria and Persia decided to join forces against him.

How many inhabitants (in millions) would the two countries together be able to recruit to fight
the emperor if exactly half of the emperor's opponents are capable of fighting?

(1) 2.3
2) 2
3) 1.9
“) 1.6

English

Pyccknit

Portugués

Deutsch

Italiano

density

IIJIOTHOCTh

densidade

Dichte

densita

at his disposal

B PaCIOpSDKEHAN

a sua disposicao

zur Verfiigung

a (sua) disposizione

opponents

IIPOTUBHUKN

oponentes

Gegner

opponenti

to recruit

MOOWIN30BaTh

recrutar

aufbringen

reclutare

capable

croco0eH

capazes

fihig

abile al combattimento
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moNUN

IMDVNIND DTN
It T T = may T T Yy moves vy W10
11N NLY

1902 NMOXN NI MNID MPTNAN N

PO (1)

"N (2)
IWSM (3)
NP (4)

ININPN ITIN NPYY NN 19 WY NPT TPINN IHINTHN NP THNND DIV 29 NPYY NHTH 55U T DN A1

3259 (1)
16>9 (2)
10>9 (3)
8> @)

JPON WD NINW NPTHN PHN P DIYWY IMIWara PNy ,0Tpon 10,000 py1a o1y 90pn Sw amwd 12

ON DYTPON MYSNNI VIVWO TDOPN D1 (D1)1D03) 9NN 935 DXavin Nnd by

147 (1
142 (2
115 (3
113 @

AT TN DN 9NN D19 MIVIIN TOpY DTInnn W13

IOPY OXNINND TINNDY NT ON ,ID°P3 ONDINID YT DD THY MPTHN YNV 1DV (D2)PDNI) DXAVIN NND
10N212 DX PYWI TPXNH PTI ,NORN MPTNI

23

2 (2

1.9 3

1.6 @
Magyar Nederlands A7ICT 93y
stirlise bevolkingsdichtheid AP1N/ (& 2T Mmooy
rendelkezesére all tot zijn beschikking AmPr0T 27T A UNURYS
ellenfelek tegenstanders +PPPF DTN
taboroz (aan)werven avavp\av\ oMY
képes in staat tot AL POLTFA T A PYI
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